Seat No.:
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GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER-V « EXAMINATION - WINTER 2013

Subject Code: 350904

Date: 05-12-2013

Subject Name: Digital Electronics and Digital Instruments

Time: 02:30 pm - 05:00 pm
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Total Marks: 70

Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic.

Answer any of Seven of the following:

(i)
(i)

(iii)

(vii)
(viii)

(iv)
(v)
(vi)

(ix)
(x)
(a)
(b)

(b)

(a)
(b)

(@)

(b)
(a)

(b)

(a)
(b)
(a)
(b)

(a)
(b)

Convert (652.43), to Decimal number.
Convert (111.101)g to binary number.

Covert (35AC.90F);6 to Octal number.
Convert (111011.11), to hexadecimal number.
Add (11011011), to (01011101),

Multiply (1101.11), by (1.01),

Subtract (10110), from (1101101),

Divide (10011), by (100),

Perform the binary subtraction using 2’s complement: (01101), — (00101),

Perform the binary subtraction using 1’s complement: (1011), — (0111),
Gives and explain different characteristic of digital logic families.
Prove that NAND gate is Universal gate with truth tables.

OR
Draw and explain working of (i) N-channel MOSFET as NOR and (ii)
CMOS as Inverter.

Explain BCD Adder circuit with the help of logic diagram and truth table.

Prove following using Boolean algebra.
(|)AB+AB+AB+AB 1
(ii)y ABC + ABC + ABC + ABC = BC + AC

OR
Draw the logic diagram for the following Boolean Expression.
(i)y=ABCD + ABCD + ABCD
@iy= ABCD + ABCD + ABCD + ABCD
State and explain De Morgan’s theorems with the help of Truth Table.
Describe the working of J-K flip flop with wave form & Truth Table and
Explain how the Race condition eliminated?
Describe the working of Modulo - 5 ripple counter with wave form &
Truth Table.

OR
Draw and explain Universal Shift Registers with Truth Table.
Compare the static RAM and Dynamic RAM.
State and explain the specification of D/A converters.
Draw the block diagram of digital frequency meter and explain its
working.

OR
Draw and explain the R-2R ladder D/A converter.
Explain working and construction of LCD.
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(652.43), A SUA oloRUl ¥RC.

(111.101) A olldel3] oleRUL ¥4l

(35AC.90F);6 ol UlseA olelRUL $Rcll.

(111011.11), o 5B AHA oloRHl ¥R4l.

(11011011); A (01011101), oll AU $3.

(1101.11), & (1.01); &l 2pUSIR S,

(10110), &\ (1101101), Hiell ciLe $3.

(10011), ol (100), &S o,

2’s slncllNoeall Gualol s3loll slteoutsl 51.:(01101), — (00101),
1’s sl Aol GUlDL 536l olteotsl $A.: (1011), — (0111),
Slyed As FHlclotl ojatul AUl ual AMsLAl.

Aolld 520 gt 2uet WA 3 NAND e A adalls e 8.

Yl
st Mol Heedl UM AL (1) NOR A2 N-Aeict MOSFET YUl ua (2)

Boclé2 A cMOS L.
AS SRUUH Aal g 2o ofl Heedll BCD Ase{l usle dxxtAl.

o{lAsll gfcllatet AeFol uleldt 2.

() AB+AB+AB+AB=1 _ _

(i) ABC + ABC + ABC + ABC=BC + AC

iYdl

o{lAotl ojcllatot WeEBGiloll YA U2 AYS SIAUAH ENRL.
(i) y = ABC D + ABCD + ABCD _

(i)y = AB CD + ABCD + ABCD + ABCD

Sl Holotett Yuall cull wa ga 2olctell Heedl mestal,

K lew sclual €131 Ao 1 ua g 2otctoll Heedl stRiugld
UM Wl AU A U so8lalatal Bl A ollofe 3 asla?
Modulo -5 3uc s1Gee20(l slluald Act sl wal g 2ol Heeell

AHostal.
Al

ollcle 2lge weRal Ellal gau utetoll Heeell unnAl.
R2ls U Ual staualHls U cA ARwHE( s
Slwect &l Aol socleoll RUALGH2t SRUA Mol UHAA.

ect glscell Hlezall scls st €131 Aol sieluald dxesA.
iyl
R-2R AS? Slect Ul AAlAL soctéR €3l uHesAl.

LCD ofl Ruell W stluald AHstal.
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